Update for Belle data and generic
MC

Belle Data (all experiments)
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Last meeting comments

 Distributions for
1- Different m_hadROE ranges

2- m_J/Psi cut

* Normalized to number of events in data (Not done yet).
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Cuts In the reconstruction program

* MVA photon cuts

* 1.6 < Mhagroe < 2.4 GeV



Signal side cuts (root level)

1- My > 5.27 GeV
2- -0.050 < AE_Bs, < 0.050 GeV

3- Rank 1

4- If some additional cut is applied, it will be mentioned in the title.
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m_hadROE for abs(m_Jpsi-3.1)<0.015
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cosb,,, for abs(m_hadROE-1.86)<0.015 and abs(m_Jpsi-3.1)<0.015
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Number of photons for abs(m_hadROE-1.86)<0.015
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Number of photons for abs(m_hadROE-2.006)<0.03
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Signal
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Number of photons for abs(m_hadROE-1.96)<0.03
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Best casecost, cost) + cosf, ) for abs(m_nadROE:2.008)<0.03
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Best case (cost, cost + cosd, ) for aos{m_nadROE-2006)<0.03 and abs(im_Jpsi3.1)<0.015
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sin_phifor abs(m_hadROE-1.86)<0.015 sin_phi for abs{m_hadROE-1.86)<0.015 and abs(m_Jpsi3.1)<0.015
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m_Jpsi for abs(m_hadROE-1.86)<0.015
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m_Jpsi m_Jpsi for abs(m_hadROE-1.86)<0.015
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Rank (no. of candicates) for abs(m_hadROE-1.86)<0.015
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Rank (no. of cancidates) for abs(m_hadROE-1.86)<0.015 and abs(m_Jpsi-3.1)<0.015
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